BiCE : A H
2131—-2117=

(KYEYBY + TRAD| 1) 23z

DTN BEET USBTLELLIYI. OFTVFRREARZTYELLI, )

0 6 4 © 31 o 4 7]
— b 5 — 7 6 — 39

0 O1
|
o J
® O
|

—DLH5VWHN5
STELTW S0 7% ?

@ R %ﬁéﬁ@iﬁ%&%@@ﬂ@&;



PR @ Do 10

| = H H
23— 2117= 7

(KYEBYBHY » TEAD | HE) 23z

DTN BEET USBTLELLIYI. OFTVFRREARZTYELLI, )

5:10 7 10 310
© &4 o 81 o 47
— 55 — 7 6 — 39
9 5 38
2 110 6 10 8110
@« 35 o 96 © 90
— 28 — 6 38 — 38 4
7 3 6
3 10 4 10 7 10
@ 4 | 52 @ 84
— 3 2 — 4 4 — 77
9 3 7
7 10
L AR

@ R EX %@j%’@“ﬂﬁ@%@@ﬂ@@



